8. JKAE 373K, 101.325kPa  [a] FL Ak, 28 4 373K, 101.325kPa /K ZE,, i Do
(A) AS=0 (B) AU=0 (C) AH=0 (D) AG=0

9. FLTT SV 7 THOE MR IS, HEY ( B

(A) 0, 1, 2, 3 (B) Rfgz1, 2, 3
(C) rTEER/NT 1 3L (D) ®1E, A4, "WTAZE

105 T/, HENZERYHEER ( Do
(A) K HH#E (B) FRIHK T (C) MipnES (D) R RE
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Fe' +3e— Fe E%(Fe’*/Fe)=-0.036V
Fe’" + 2e— Fe E%(Fe*'/Fe)=-0.439V
W [z B Fe'* + e — Fe?™ 1) ES(Pu/Fe’”, Fe* )45 T ( Do
(A) 0.184V (B) 0.352V (C) -0.184V (D) 0.770V
128554k R NAE 298K FHIPEEH K1, WA G H ( Ya
(A) AG® >0 (B) AG? <0 (C) AG =0 (D) TEEMIE

13,55 5 N R38R 240 k=2.31%107 dm’ mol™-s™, 24 X W WIEEHREE 1.0 mol-dm™ B} i [V
FRESS=2:1 b IN¢ P

(A) 43295 (B) 155 (C) 30s (D) 21.65s
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(A) RARRIPIRAS 2L (B) AR MR

(C) HAaHE RN RE 2 (D) L. EATxR
15.1mol IARS AL —SFIR T 1 R4, N ( Vs

(A) AG=AA (B) AG>AA

(C) AG HAA Tk E (D) AG<AA
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